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Cuadro 11 (continuación 5)/Table 11 (continued 5)
Guatemala: tablas abreviadas de mortalidada

 Guatemala: abridged life tables a

2000

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.046 0.045  100 000  4 455  96 452 0.951 b 6 462 204 64.6
1 4 0.003 0.012  95 545  1 128  379 249 0.990 c 6 365 753 66.6
5 5 0.001 0.004  94 416   386  471 115 0.996 5 986 504 63.4

10 5 0.001 0.004  94 030   411  469 122 0.993 5 515 389 58.7
15 5 0.002 0.010  93 619   927  465 776 0.986 5 046 268 53.9
20 5 0.004 0.018  92 691  1 672  459 278 0.979 4 580 492 49.4
25 5 0.005 0.025  91 020  2 255  449 461 0.973 4 121 214 45.3
30 5 0.006 0.029  88 765  2 563  437 417 0.970 3 671 753 41.4
35 5 0.006 0.031  86 202  2 709  424 237 0.967 3 234 336 37.5
40 5 0.007 0.034  83 493  2 871  410 288 0.963 2 810 099 33.7
45 5 0.008 0.040  80 622  3 204  395 101 0.956 2 399 811 29.8
50 5 0.010 0.049  77 418  3 828  377 521 0.943 2 004 711 25.9
55 5 0.014 0.066  73 590  4 834  355 866 0.920 1 627 190 22.1
60 5 0.020 0.095  68 756  6 527  327 463 0.889 1 271 324 18.5
65 5 0.027 0.129  62 229  8 025  291 082 0.847  943 861 15.2
70 5 0.040 0.181  54 204  9 795  246 532 0.774  652 779 12.0
75 5 0.065 0.282  44 409  12 517  190 752 0.656  406 246 9.1
80 5 0.110 0.430  31 892  13 702  125 204 0.506  215 494 6.8
85 5 0.180 0.607  18 190  11 037  63 358 0.347  90 290 5.0
90 5 0.279 0.770  7 153  5 509  21 994 0.208  26 932 3.8
95 5 0.400 0.885  1 644  1 455  4 585 0.071 d  4 937 3.0

100 ω 0.537 1.000   189   189   353   353 1.9
Mujeres/Females

0 1 0.040 0.038  100 000  3 830  96 891 0.957 b 7 096 983 71.0
1 4 0.003 0.012  96 170  1 124  381 793 0.991 c 7 000 093 72.8
5 5 0.001 0.004  95 046   365  474 319 0.996 6 618 300 69.6

10 5 0.001 0.003  94 681   300  472 658 0.996 6 143 981 64.9
15 5 0.001 0.005  94 382   450  470 784 0.994 5 671 323 60.1
20 5 0.001 0.007  93 932   645  468 045 0.992 5 200 539 55.4
25 5 0.002 0.009  93 286   821  464 379 0.990 4 732 494 50.7
30 5 0.002 0.011  92 465   993  459 843 0.988 4 268 116 46.2
35 5 0.003 0.013  91 472  1 204  454 349 0.985 3 808 273 41.6
40 5 0.003 0.017  90 268  1 517  447 544 0.980 3 353 924 37.2
45 5 0.005 0.023  88 750  2 002  438 746 0.973 2 906 380 32.7
50 5 0.006 0.032  86 748  2 753  426 860 0.961 2 467 634 28.4
55 5 0.009 0.046  83 996  3 881  410 275 0.942 2 040 774 24.3
60 5 0.015 0.071  80 114  5 661  386 419 0.916 1 630 499 20.4
65 5 0.021 0.099  74 453  7 337  353 924 0.880 1 244 080 16.7
70 5 0.031 0.143  67 116  9 628  311 511 0.813  890 156 13.3
75 5 0.054 0.239  57 488  13 715  253 151 0.699  578 645 10.1
80 5 0.095 0.383  43 773  16 748  176 992 0.554  325 494 7.4
85 5 0.154 0.549  27 024  14 829  98 049 0.400  148 502 5.5
90 5 0.239 0.714  12 195  8 708  39 208 0.257  50 453 4.1
95 5 0.346 0.843  3 488  2 940  10 089 0.103 d  11 245 3.2

100 ω 0.474 1.000   548   548  1 156  1 156 2.1

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


